Ardul 37 (71 2

=) AlH]
23,490 39,150 21,100 11,800
71 =gt |GTX-ARN A B3 € 2 gl 43 - - - - - - - - -
7-2 HERED |GTX-ARA# SRT Q14 - - - - - = - - - _
-3 engrh |SBA(GAM) T Al olulehdyd =4 33 - - - - - - - - -
-4 HEaga  |(@egad~Fad At HIET 35 A9 39 - - - - - = = - - -
-5 deagt AP YL FA Y obdy IYYA A2 - - - - - - - -
7-6 Hengat  |BA~ESANY 24 27] 231 P 24 A/d | 4,000 - - 4,000 - = = 4,000 4,000 - -
-7 Henen (2RISR Y2 - JIC =2AA AL - - - - - -
7-8 iERET | FEEQ WAEA A Y 450 - - 450 - - - - 450 450 -
-9 hEmE |3t PP AN Y 2 3,000 - | 3000 - - 1,000 1,000 1,000 1,000 1,000 1,000
7-10 dFRET  |(@EIgREG WA 2 9l S - - - - - - - - - -
711 znsy  |(SHH)YIF WaRkmA o) 600 - 300 300 = = 200 100 100 200 100 100 200 100 100
7-12 iEREs |ogwA 2FAA =Y 13,240 - - | 13,240 - 190 190 = 350 350 6,000 6,000 6,700 6,700
7-13 hERER |cEwa 24 O AYEA A 3,100 1,150 400 1,550 - 500 150 100 250 800 300 100 400 900 350 100 450 900 350 100 450
14 A4z BA~H (782 A) 4XH4 B3} 23,670 - | 20,000 3,670 70 70 - 5,100 5,000 100 18,500 15,000 3,500 -
7-15 Zhdzt Hedgipgnsez 2] g - - - - - - - - - -
7-16 Zidst a2 gew AEYE 27H AR 1,300 - 1,300 = 80 80 1,220 1,220 - =
17 2zt (FEDZE~5Y 7 3509 AY= FBY 27] 34 - - - - - - = = - -
7-18 7742t $AE - 2IF)oPFS~2AY 7t a8=2 A4 | 17,600 8,800 - 8,800 400 200 200 4,200 2,100 2,100 5,000 2,500 2,500 5,000 2,500 2,500 3,000 1,500 1,500
7-19 7142t (ERE - AP EAAL LR 2R 4,800 - - 4,800 ~ | 4,500 4,500 300 300 - - -
7-20 Zider EAHEAA Yl { A~ =2 gay - - - - - - - -
7-21 A4z (EAAL) AR ZIC~FEAA TR A9 2 FxF 321 | 9,300 - 2,790 6,510 - 300 300 6,700 1,800 4,900 2,300 690 1,610 = =
-22 Zdet (Fe)Ye~Fst 3608 == A4 4 - - - - - - - -
7-23 EATE (AT - RIF)OrTY HEIAY B 9,000 - - | 9,000 - = 3,000 3,000 8,000 6,000 = -
7-24 EAZR |(@AE - RS AEA YA W 2T 3 | 12,000 - - | 12,000 - 400 400 4,500 4,500 7,100 7,100 -
725 A (PEDLGEIAEH0] 5 YA 2P - - - - - - - - -




